. Rew <":|‘2111—> r*?ﬁgm---zﬂzzéﬁ%ﬂ 08 A
EE wmlmm” > PItHX XI5 /\548 (4 X

[HCB] < WEZE »1/199.8 (1/26.9) < FEZ > B¥4S 100.0% - #EHE 1000% (KRB A =50.0% - EHEES 66% or 86%)
<HBEO1&1&1858381&10 < Y7 >2E or 10,000 @
MRS AT - ILST/ WS A L

WS A b - SRS
WERAEA- 2L
WE T R R AT — 4
B EF=—
WS R BbY
| IR 0
(FH@) 1/31.1
W GTS

<TFARYH—EEHE>

[HCB]( 745vh— : 1048 /10C)
« 4R---360 {&
- 9R---900 {&
(%TEVIR] 284

o
[EEIalL—30]) WO
<sER@TEH= 9 E> <Y R M >
HO¥TFF, HEH#EERLET ., (FiE [HCBD

OZFIAE, [EAMER] CRYES, [BEAEM] TOEREECET, Presented by TKC (HRSH b1« )0 - afdiagrX)




